

"qasiy .'b 'text ,88-151 dwihnzna aygn iyeniyg"qyz ,'a xhqnq ,'` 
ren.miizry :ogand onf.qik aygnae xfr xneg lka ynzydl xzen.(deey wlga zel`yd lk 
ewip) zel`yd lk lr zeprl yi (oeivd ly 50%) '` wlga.(deey wlga zel`yd lk 
ewip) zel`ydn 2 lr zeprl yi (oeivd ly 50%) 'a wlga.daeyz lk ahid wnpl yi'` wlgzeihixwd ze
ewpd z`e zehehtniq`d z` ,miyxeyd z` `evnl Maple -a miynzyn ji` .1divwpetd ly
? f(x) =

x3 − 4x2 − 25x + 28

x3 − 3x2 + 4x − 12.(xyt` m` ,zeihilp` zeaeyz mivex)mikxrd z` hltk dxifgne x ixlwq xtqn hlwk hlawn xy` Matlab -a divwpet i/aezk .2dvixhnd ly miinvrd mixehweed z`e miinvrd
M =







1 3 −4
2 2 −2
x 7 −1





 :ze`ad ze
ewtd dnl i/xaqd .3
x=[-1:0.01:1];

A=[x;cos(pi*x/2)];

A=A+0.2*rand(size(A))-0.1;

plot(A(1,:),A(2,:),’r.’,x,cos(pi*x/2),’b’):`ad sxbd z` zepzep
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ly jxrd z` hltk dxifgne p ixlwq xtqn hlwk zlawn xy` Maple dxe
vext i/aezk .4lxbhp`d
I(p) =

∫ p

0

x dx

ex − 1? 10-l 0 oia p xear I(p) ly sxbd z` Maple -a z/xiivn ziid ji`divwpetd ly ilnipind jxrd ly sxb `evnl Matlab -a z/ynzyn ziid ji` .5
ft(x) = exp

(

−
sin x

1 + x + tx2

)jxrd ly sxb mivex ,ft(x) ly ilnipin jxr `evnl ozip t lkl - dpeekd) ? 5-l 1 oia t xear(.t ly divwpetk ilnipind'a wlgm` αx + βy + γ = 0 xyid ly 
v eze`a od [x1,y1],[x2,y2] ze
ewp izyy mixne` (`) .1m` wxe
(αx1 + βy1 + γ)(αx2 + βy2 + γ) > 0dniyxe [x1,y1],[x2,y2] ze
ewp izy hlwk zlawn xy` Maple -a dxe
vext i/aezk

αx+βy+γ = 0 xyid ly 
v eze`a od ze
ewpd izy m`d zw
eae [α, β, γ] min
wn ly.`l e`ze
ewp yely ly dniyxe [x,y] d
ewp hlwk zlawn xy` Maple -a dxe
vext i/aezk (a)mr yleynd jeza z`vnp [x,y] d
ewpd m`d zw
eae [[x1,y1],[x2,y2],[x3,y3]].`l e` [x1,y1],[x2,y2],[x3,y3] mi
ew
ewd
ewpd ,
ew
ew lkly miw
eay i
i lr yleyn jeza `id d
ewpy we
al ozip :fnx.mixg`d mi
ew
ewd ipy oia xagnd xyid ly 
v eze`a md 
ew
ewdedivwpetl zqgiizn z`fd dl`yd .2
f(x) = a(x)eb(x) xy`k

a(x) = a(1)xn−1 + a(2)xn−2 + . . . + a(n) , b(x) = b(1)xm−1 + b(2)xm−2 + . . . + b(m).Matlab -a mipezp mixehwee ipy md a, b -emiyxeyd z` dxifgne a xehweed z` hlwk zlawn xy` Matlab -a divwpet i/aezk (`)-e xmin `xwp dl`d miyxeyl .a(x) mepiletd ly xzeia ohwde xzeia le
bd miiynnd.xmin = xmax = 0 xi
bdl yi miiynn miyxey oi`e dxwna .xmaxz`vene xmin, xmax z`e b xehweed z` hlwk zlawn xy` Matlab -a divwpet i/aezk (a).b(x) ≥ 4 mday (yi m`) xmin − 1 ≤ x ≤ xmax + 1 rhwd ly mirhw-zzd z`mirhw-zza wx la` xmin −1 ≤ x ≤ xmax +1 rhwa f diivwpetd ly sxb xiivl mivex (b)?ef dxhn biydl min
ewd mitirqd ly zeivwpeta z/ynzyn ziid ji` . b < 4 mday



dqtil`d lr mi
ew
ew mr yleyn ly le
b ikd ghyd z` `evnl mivex .3
x2 + 3y2

− 2xy − x − 4y = 25 .(xei` d`x)

d
ewpdy jk r z` z`vene θ zieef hlwk zlawn xy` Matlab -a divwpet i/aezk (`).dqtil`d lr `id (x, y) = (r cos θ, r sin θ)lr ze
ewp yely z`ven ,θ1, θ2, θ3 zeieef yely hlwk zlawn xy` divwpet i/aezk (a)mi
ew
ew mr yleynd ly ghyd z` hltk dxifgne ,m
ewd sirqa enk dqtil`d.dl`? ilniqwnd ghyd z` z/`ven ziid ji` (b)m` (`) .4
M =
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s 1 2 3

1 3 4 5

2 4 5 6

3 5 6 7
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mixehweed i
i lr qext M ly ze
nrd agxn Maple itl if`
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? s ly dxiga lkl oekp df m`d.s lr zelz `ll 0 deey M ly hppinxh
dy al i/miy :fnxz/ynzyn ziid ji` .s, t ,mixhnxt ipy lr zelz mr 4 × 4 dvixhn ,Maple -a ,dpezp (a)dfi`le ? 0-l deey letk invr jxr yi s, t mixhnxtd ly zexiga dfi`l `evnl Maple -a? 2 
ninn `ed dvixhnd ly ze
enrd agxn s, t ly zexiga


